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i) = HO-0.6 HO-1.2 HO-2.5 HO-5 HO-10 g = HB-0.6 HB-1.2 HB-2.5 HB-5 HB-10
ENLY Nm 0.06 0.12 0.25 0.5 1 ER ML Nm 0.06 0.12 0.25 0.5 1
EMBE  DC-V 24 24 24 24 24 EIREE DC-V 24 24 24 24 24
JHEES W(at75TC) 9.6 116 12.8 146 17.4 HEES  W(at75C) 9.6 116 128 146 174
B = kg 0.46 0.70 1.0 1.7 40 5 & ks 0.45 0.60 0.90 1.5 3.7
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B K HO0-0.6 | HO-1.2|HO-2.5| HO-5 | HO-10 B 3 HO-0.6 | HO-1.2 |HO-2.5| HO-5 | HO-10 B K HB-0.6 | HB-1.2 |HB-2.5| HB-5 | HB-10 B X HB-0.6 | HB-1.2 |HB-2.5| HB-5 | HB-10
- B 52 60 70 85 112 B vJ FyFEER| 36 40 50 60 70 = B 52 60 70 85 12 ) v YyFEER | 36 40 50 60 70
%5 C 48 56 64.6 78 105 7 T | M5X6 | M5X6 | M5X6 | M5X6 | M5X6 |7_‘:7_J C 48 56 64.6 78 105 1 & T | M5X6 | M5X6 | M5X6 | M5X6 | M5X6
A D1 16 19 22 24 26 Q1 13 14 16 18 22 - D1 26 28 32 35 42 Q 13 14 16 18 22
D2 26 28 32 35 42 Q2 18 20 22 24 26.8 L 54 62 67 73 81 #h QK 1 12 14 16 20
L 81 92 100 110 121 ) QK 1 12 14 16 20 f.g M M 48 51 55 59 i d 5 6 7 8 10
M 47 55 59 64 68 di 5 6 7 8 10 =) S 3 3 4 4 6 t 45 5.5 6.5 75 9.5
L N 21 23 25 28 31 i d2 10 12 14 16 18 Y 6 6 7 7 9
bl S 6 6 6 6 6 1 45 55 6.5 75 9.5
i T 10 12 14 16 18 t2 95 1.5 135 | 155 17.5
Y+ 5) 6 7 8 8
Y2 2 2 2 3 3
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